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V] All the children’s ages relate to their names. Can you work out

how old Thomas is?
Harry is 5. Martin is 6. Caroline is 8. Josephine is 9. Thomas is

i
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Take 10 coins or buttons and arrange them like the ones above.
Can you move only 3 coins to make the triangle turn upside down?

ﬂ Which of these numbers is the odd one out? Colour the odd one
out and explain why.

I. 12|45/ 8|10 2. 11210/ 8 | 5 3. [29 28|27 |22

4. [20|30 40|35 5. |1]3|5|7 8| 6. |92 82 70|62

Break the code.
What are the alien’s favourite foods?

. 50-20 = (P) 2. 8+ &=__
3. 20- 6=___ (72) & 20-5=__
5 10+I11l = (C) 6 20- 2=__
7.10- 7=___(0) 8 15+ 5=__
9. 20-12=___ (R) 10.10- 5=__
1. Fof Ik = (E)

30/12/ 14|14+ 18| 5 1830|3015/ 7 |5 2118/ 8|8 |3 20| 5




